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SUBSECTION A: ANSWER ON MARK READING SHEET

Indicate whether the following statements are True or False.

A1,

A2

A3

S v Makwanyane 1s a clear example of the indirect application of the Bill of Rights were
the Constitutional Court found that section 277 of the Criminal Procedure Act 51 of 1977,
was unconstitutional and therefore invahd (2)

1)
2)
3)

4)

True, the applicable sections In the Bill of Rights were indirectly applied which
aliowed for a declaration of invalidity in terms of section 172 of the Constitution
False, the applicable sections in the Bil of Rights were directly applied which
allowed for a declaration of invalidity in terms of section 172 of the Constitution
True, the Constitution can oniy be applied indirectly in all circumstances in terms of

the principle of avoidance
Faise, the Bill of Rights was indirectly applied and referred to the South African

Human Rights Commission to provide a suitable remedy

Only the Constitutional Court can decide on the constitutionality of any amendment of the

Constitution (2)

1) False, in terms of section 167(4) of the Constitution, the High Courts and Supreme
Court of Appeal have concurrent junsdiction to decide on the constitutionality of any
amendment of the Constitution

2) True, only the Constitutional Court can decide on the constitutionaiity of an
amendment of the Constitution as exclusively provided for in the rules of the
Constitutionat Court

3) True, In terms of section 167(4) of the Constitution, the Constitutional Court has
exclusive jurisdiction to decide on the constitutionality of any amendment of the
Constitution

4) False, the Constitution cannot be amended as provided in its preamble

The South African Broadcasting Corperation (SABC) can invoke the nght to freedom of

expression (2)

1) True, because all the nghts in the Bill of Rights are for everyone, which includes
both natural and junstic persons

2) False, because the nature of the SABC is such that exercising this night 1s not part
of its business

3) False, because the nature of thus nght ts such that it cannot be exercised or invoked
by a junistic person

4) True, because there s nothing about the nature of this nght that makes it

impossible for junstic persons to invoke it
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A4 To prove that one 1s acting in the public interest in terms of section 38(d) of the
Constitution, one has to show that one is acting in the public interest and that the pubiic
has sufficient interest in the remedy (2)

1) False, to prove that one i1s acting in the public interest in terms of section 38(d) of the
Constitution, one has to show that one 1s acting i the public interest and that the public
has personal interest in the remedy sought

2) False, section 38(d) of the Constrtution does not allow a person to act in the public interest
but restricts the grounds of standing to anyone acting as a member of, or in the interest of,
a group or class of persons

3) True, section 38(d) of the Constitution allows a person to act in the public interest If prior
consent 1s obtained from individual members of the public which points to sufficient
interest

4) True, when acting in the public interest in terms of section 38(d) of the Constitution, one
has to show that you are acting in the public interest and that the public has suff.cient
interest In the remedy

A 5 A provision In law requinng all medical doctors, but not members of any other profession, to
do community service qualifies as a law of general application in terms of section 36 of the
Constitution (2)

1) False, to qualify as a law of general application it has to apply to all professions and
not anly a specific profession

2) True, the mere fact that a law differentiates between vanous professions does not
mean that 1s not a law of general application It would only faill if the differentiation s
arbitrary

3) False, section 22 of the Constitution ensures freedom of trade, occupation and
professton which prohibits any such regulatons

4) True, it would qualify as law of general apphication only if an arbitrary differentiation
exists

A6 The general imitation clause can meaningfully be applied to all nghts in the Bill of Rights (2)

1) True, because all nghts are textually unqualified

2) True, because all rights have demarcations

3) False, because some provisions contain interna! demarcations that repeat the
phrasing of section 36

4) False, because some provisions contain external demarcations that repeat the
phrasing of section 36
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A declaration of invalidity is a discretionary remedy that a court could consider to declare
unconstitutional laws or conduct invalid (2)

1) False, a declaration of invalidity 1s a non-discretionary remedy that can only be
considered for a breach of socio-economic nghts

2) True, a declaration of invalidity 1s only one of the remedies that can be considered
by a court to declare unconstitutional laws or conduct invalid

3) False, a declaration of invalidity 1s not a discretionary remedy as courts are obliged
to declare unconstitutional laws or conduct invalid

4) True, a declaration of invaldity 1s a discretionary remedy that can be utilised to
declare a law or conduct unconstitutional in its entirety

You are a legal adviser to the Pretona City Council The Council plans to evict a number
of squatters from its land that has been earmarked for a housing project The Council has
the right to evict the squatters and demolish their dwellings (2)

1) True, because fair procedure does not apply to illegal occupants

2) False, because evictions can only occur once a court order has been granted
3) False, because South Africans are allowed to squat anywhere in the country
4) True, because the actions of the Council amount to an administrative decision

Franco Seerdorf, a German soccer player, has a three-year contract to play for a South
African soccer club Franco s therefore entitled to vote in the next general elections In
South Africa (2)

1) False, because foreign soccer players are not allowed vote

2) True, because our Conshtution is similar to the German Constitution

3) True, because foreign nattonals are entitied to all the nights in the Constitution
4) False, because political nghts are only granted to citizens of South Africa

The Constitutional Court applies a standard of reasonableness in establishing whether the
state has achieved the progressive realization of the socio-economic nghts provided for in
the Constitution (2)

1) True, although a considerable margin of discretion is grven to the state when
deciding on how it 1s to go about fulfling socio-economic nghts, the
reasonableness of the measures that it adopts can be evaluated by a court

2) False, section 28, 27 and 29 of the Constitution provides for mimmum core
obligations that need to be fulfilled and if this i1s not the case the state can be held
accountable

3) True, the Constitutional Court applies a standard of reasonableness in determining
whether the state has given effect to the immediate reahzation of socio-economic
rights

4) False, the Constitutional Court applies a standard of rationality to determine If the

state’s fulfilment of socio-economic nghts 1s based on rational policy
[20]
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SUBSECTION B
QUESTION 1
B 1 Differentiate between formal equality and substantive equality {5)
QUESTION 2
21 ldentify and discuss the procedural questions a court will have to consider in fundamental
rights litigation? (5)
22 Discuss whether, and to what extent, a junstic person can rely on the protection of the Bill
of Rights For instance, can Noseweek, an independent newspaper, invoke the nght to life
and the nght to freedom and expression of the person? )]
23  Whatis meant by standing (focus stand: in iudicio), and why 1s it important? {5)
24 When should a court apply the Bill of Rights directly to legisiation, and when should 1t
rather interpret legislation in conformity with the Bill of Rights? (5}
25 Discuss whether or not magistrate’s courts can develop common law In accerdance with
the Constitution (5)
{25]
QUESTION 3
31 Ms Axel Rod i1s an ambitious 26 —year old attorney who works for Sugar and Bean, a firm
of attorneys A month ago, Ms Rod discovered that she was two months pregnant Since
she was not marned, she decided to raise the child as a single mother A month later, Ms
Rod was fired from her job at Sugar and Bean on the grounds that she would no longer be
able to perform her duties at the firm in an efficlent manner Her job required her to work
long hours, and, being a sigie mother, it was thought that she would no lenger be
committed to her clients
Apply the critenia lard down by the Constitutional court in Harksen v Lane with regards to
the unfair discrimination in Ms Rod’s case (10)
32 Mbala Babu 1s a learner at a state high school in Tshwane He i1s expelled from school

because he 1s black, does not attend any Christian church and 1s a Rastafartan Mbala
alleges that his exclusion from the schoo! 1s unconstitutional

Is the high school bound by the Bill of Rights? In your answer, refer to the relevant
provisions of the Constitution (5)
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Cntically evaluate the mernits of the following statement Substantiate your answer with
reference 1o case law

“Our constritutton demands a value-taden approach to constitutional interpretation During

such a process the role of the text itself is mmimal, if not negligible (10)
[25]

QUESTION 4

41

42

43

44

Discuss suspension of declarations of invalidity as one of the ways in which the courts can
regulate the impact of a declaraton of invalidity in terms of section 172(1) of the
Constitution (5)

Discuss severance as one of the ways in which the courts can regulate the impact of a
declaration of invalidity in terms of section 172(1) of the Constitution (5)

The Gauteng Department of health decides to reduce the treatment given to Aids patients
who have contracted tuberculosis This 15 due to a shortage of funds and the
Department's inability to meet the demands placed on t However, painkillers and
sedatives are still available Is this decision constitutional? Substantiate your answer with
reference to case law (10)

‘Affirmative action Is not an exception to the nght to equality, but is a means of achieving
equalty understood n its substantive or reshtutionary sense " Give a criical evaluation of

this statement (5)
[25]

Total: {100}
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